(*#* EQUAZI ONI NONLI NEARI %)

iniisosi= Cl ear [f, g, a, a0]l;
f[x_1:=Sin[x];
gIX_]:=axx;
a0 =0.1;
Pl ot [{f [x], g[x] /. a-»a0}, {x, -Pi, Pi}, PlotRange -» {{-Pi, Pi}, {-1, 1}},
Pl ot Styl e -> {{RGBCol or [0, 0, 1], Thi ckness[0.01]}, {RGBCol or [1, 0, O], Thi ckness[0.01]1}}]
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Out[1509]=

nps10:= Clear [ff, a0];
ffI110x_1:="1[x];
Do[a0 = (i -1) %x0.4; ff[il[x_]1=9[x]/. a-»a0, {i, 2, 5}]
in1513:= a0 = 0. ;
i =1;
Wiile[a0<2., {pl[i]=Plot[{f[x], g[x]/. a-»a0}, {x, -Pi, Pi},
Pl ot Range » {{-Pi, Pi }, {-1, 1}}, PlotStyle -> {{RGBCol or [0, 0, 1], Thickness[0.01]},
{RG&Col or [1, 0, 0], Thickness[0.01]1}}]; i +=1; a0 +=0.4}1;

in[1516):= Show[pl [2]]

Out[1516]=




2 EgNonLinl.nb

in15171= Cl ear [a0];
Ani mat e[
Pl ot [{f [X], g[x] /. a-» a0}, {x, -Pi, Pi}, PlotRange » {{-Pi, Pi}, {-1, 1}}, PlotStyle ->
{{RGBCol or [0, 0, 1], Thickness[0.01]1}, {RG&BCol or [1, O, 0], Thi ckness[0.01]}}1,
{a0, 0, 23}, Ani mationRunni ng - Fal se]

© 3 DI M=

Out[1518]=

nps19:= Clear [f1, gl];
flx_1:=BEXp[-X];
gl[x_]:=x"3;
Plot [{f1[x], 91[x]}, {x, 0, 2}, Pl otRange -» {0, 2},
Pl ot Styl e » {{RGBCol or [0, O, 1], Thi ckness[0.01]1}, {RGBCol or [1, O, 0], Thi ckness[0.01]}}]
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outf1522)= 10N
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EgNonLinl.nb 3

ns23):= C ear [f2];
f2[x_1:=Exp[-x]1-1/2;
Pl ot [f2[x], {x, 0, 2}, PlotRange » {-1/2, 1/2},
Pl ot Styl e » {{RGBCol or [0, 0, 1], Thickness[0.01]}}]
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Out[1525]=
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